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solving a system by substitution

Worksheet02

Some Variety in Word Problems
For each of these problems, make 2 equations in y = mx + b form and then solve the problems by substitution.  Do a LS/RS check for both of the equations.  Choose one problem and also graph it.

Remember:  the problem may look different but you already have a lot of practice in finding m and b and then writing y = mx + b

1.  Dara and Tim are playing a board game.  Dara has 12 bonus cards now and 

draws 2 cards every turn.  Tim has 3 now and draws 5 every turn.  After how many turns will they have the same number of bonus cards? How many cards will they each have then?

2.   Wayne and Shuster are walking in a straight path to meet each other. 

Wayne walked 11 km before lunch and will walk 4km/h after lunch.  Shuster 

walked 8 km before lunch and will walk 5 km/h after lunch.  How many 

more hours will each walk?  What is the total distance each has walked?

3.
Lindy is trying to decide which "frequent flyer" programme is better for him.  He has found two clubs that are the same except for the points offered.

Skyclub offers 10,000 bonus points upon joining and 20 points for each mile 

flown.   FirstClass offers 7,500 bonus points upon joining and 25 points for 

each mile flown.  Find the break-even point and interpret it.  What should 

Lindy consider in deciding which club to join?

4.
Ida's score on a test is three times a number plus 18.  Abe's score is 4 times a number


less 12.  They both had the same score on the test.  Find the score. 

5.   Walter and Reika are collecting "free game" coupons for their favourite video 

game arcade.  Walter has  85 coupons now and collects 4 more every week.

Reika has 31 now and draws 6 every week.  After how many weeks will they 

have the same number of coupons?  How many will each have at that time?

6.   
Chris and Marco are sailing in a straight path to meet each other. 

Chris has already sailed 320km and will continue at 25 km/h.  Marco has 

sailed 400km and will continue at 20 km/h.  In how many more hours will 

they meet?  What is the total distance that each has sailed?

7.
Billy's score in a game is 24 times a number plus 700.  Bjorn's score is 12 times a number


plus 1900.  They both have the same score in the game.  Find the score. 

Ans.:  1: (3, 18);  2: (3, 23); 3: (500, 20 000);  4: (30, 108);  5:  (27, 193);    6: (16, 720);



7:  ( 50 , 3100 )

